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15. Based on the given information, in which quadrant does 6 terminate. 5,% ) /O\l J
escd) | fens,
secd <0 and smH >0 b) tanf >0 and cosf <0 T C
- 4+%n@ |Cos O
(Q T & I Ccoto) | (Seco)
@
c) c¢scf >0 and tanf >0 d) tanf <O and sinfd <0

ol T 2874
QI A Q

e) cosf <0 and cotf >0 f)  cscf >0 and sec >0
Q — p—

R T

g) sinf <0 and secd >0 h) cotf <0 and cosf <0
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5 4=

For each given angle measure, (i) locate it in a circle using standard position, and (ii) identify an angle

that is coterminal with it and ... #£)7. 98 is move Yhan fsuias (Ewluﬁc/\v\j
Q
16. betweef 0° and 360° 17. between 0° and -360° (‘720 )
e -270° ’

6 = -240° 6 = 980°
~720°
3160°

2% % 360" .
260 - 360°
= \20° = ~1o°
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Locate the given point in the x-y-plane, and draw a positive angle 6 whose terminal side contains the
point. Then, find the values of the six trig functions of @ and simplify.

18.  (3,+7) - Hnis (70;"* s QI
Ve dé
sing= 3 - <4
v 3
cosH:_?_(: - _}_..
r b »
tan@:/g_ - "ﬁ
X g , ,
feto= 3 . I R
5 -3 Vi 7 7
Q>8 secl = ':L
3o = |
®)
& cscl = _‘i v \.)j =
v A |
19. 0, 2)
sinf = _9___ = _-_l_. -
Y 2
cosf = _X'_ < Q ~
tanf = j_ __L_ W J
(ec\p“oc“j ‘
cotf = © ‘s@
5 =
secd = L [\'\—OQ‘Q"'U')C(J?_)
O
cscl = _7_._., s
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#20 and B2 ( awe Iim/lar to #I8 jp dhat we Rant & pomt i
the Y-y~ plane. Howewer, i B8 e w&r\eg;v-e% Whe point (x 9) anel

Find and simplify the requested trig values based on the information given. Rationalize the M Yo f;)w(_
denominator, if necessary.

~ +"“@:‘§l=‘—ﬂ:_ﬁ e value 6 F
20. If O terminates in M@n find ' j B Iinlfzo)
£ 8 =) we 3,{/% X
D ( ese volues Cinel. v [n o
sinf = 9 ] ave comflstawt 1
T(: & "i with & n m{hmut
tanf = 2 - -—i ﬁl)\d ¥ ¢ 'ﬁ)’\d- r‘
L v X Ty Tu#2) e
Y (3);*(-‘1)1 gt Yy and
secd = Fihd Coss st crz 9416 r forsd
Cos¢g=X- 3 N §¥2=25 ”
r 5 o ::\)'ZE s “;;”
- pust Jinal
50, Sec O :E
X .

-

: 3
21. If O terminates in_(_)llﬂzﬂ@n CSCQ=_\I'_'5‘ find
i 2 S}narf_—g
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X 15 ngja/bfve becanse
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